


MAT257 Analysis Il on January 18, 2021.
Read Along: Spivak 75-85. /Z é
TT2 tomorrow, 5-7PM. C 7 L/
Office hours today: Sebastian 11-2. Tomorrow Shuyang 10:30-11:30,
and Dror 9-10 and 12-1.
Please be gentle with zoom chat! C\l/ l/l/ I W
* Class-related only.
* Try not to reach the point where the chat is a distraction.

* Be gentle! Be kind! You don't see everyone - your words may offend
somebody you don't even see.

Riddle Along: Can you fold a rectangular piece of paper (perhaps many k
times) so that the result will have a longer perimeter than the original? C )f
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MAT257 Analysis Il on January 20, 2021.
Read Along: Spivak 75-85. Comment on TT2.
Please be gentle with zoom chat!
* Class-related only.
*Try not to reach the point where the chatis a distraction.

* Be gentle! Be kind! You don't see everyone - your words may offend CJ/ l/L/
somebody you don't even see.

Riddle Along: Let f be a distance-non-inreasing function from the plane

to the plane (d(x,y) >= d(f(x),f(y)), for all x,y), and let R be a rectanglein ¢
the plane. Is it always true that the length of the boundary of R is greater

or equal to the length of the boundary of f(R)?
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MAT257 Analysis Il on January 22, 2021: Alternating g
Tensors. A
HW11, due next Wednesday, is on the web! 4
Read Along: Spivak 75-85. S A |
Riddle Along: On a chessboard, there are three pawns atthe / = A
lower left (at A1, A2, and B1). On each move, pick up one 3 I (19 - ilﬁi
pawn, remove it and place one new pawn to therightandone )| & \ '
new pawn above, but only if these squares are unoccupied. P
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